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They are R»v - DINRY

OVERVIEW

The mwn states that n171%n (hillocks) that are close to a city or a road are
presumed to be Xnv, whether the n1217n are recent or old. There is a concern
that a fetus, etc. was buried there. However if they are far from the city then
the recent ones are 1770 and the old are Xnv. The X 3 explains the difference
[between M217p and Mt (by mw7n)] and states that when it is close to the
city, a woman can go herself and bury the fetus; however when it is far, then
she has a man accompany her and goes to the cemetery. There is a dispute
between "1 and N©0IN how to interpret this ruling.

— PINDV MVYTN 115’QN MAYIPaT ©IVNPA YD
»'"'w9 explained that if the hillocks are close to the city or the roads then

even new N1°2Y9n are X»Y. The reason is —
—*ov 93P ONR W7 PRI NTIND 1IN NOINT DIVN

Because since it is close to the city she goes there alone and therefore it is

not known if she buried a body there in the n1"19n. There is the possibility that

she did bury someone there —
— >N 79N DTN DIINT YWIPN 93P Y9NINI NN YWIIN NI2TT NPINT YaN

However if the %170 are far from the city or road, then the woman will not
venture there alone, but rather she will take a man along with her. Therefore,

if she buried a body there, the person who accompanied her would reveal it,

and it would be known. Since it is not known it is assumed that no one was buried there.
— %9377 NANYI DTN WIIN NI2TT 9 Yy GRT MINNV MIY? 72290

And therefore® old N5, are 8»u (even if they are far); for even though
she had a man accompany her if it was far (who would ostensibly reveal
any burial that took place), nevertheless [even if we are not aware of any
body being buried there, the N1»1%n are RXnv, for] even if she did bury a body it
was forgotten since it took place in the distant past. This concludes s™"wA explanation.

' Seemingly we should assume that w7 should always be 7; for if someone was buried there, people
would be aware of it.

% See (19102) MW AR 71"7 WA

3 See ML MWTA "7 2w who writes %2 "Y' W7 7% 1317 RNK DR

* See mxnw ML 77",

> Since the only reason why mpIn MW are v is because the 7772 X1277 WX would tell, this reasoning
does not apply by miw».
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mooIn has a difficulty with s""w9 explanation:
— 79102 919 298 INNIN 19 ONRT [PNY 13%295] NYP)

And [the >''1] has a difficulty with this explanation; for if it is so as >"v"?

states,’ then why was it necessary for the X1 to state shortly -
— NOIN 92PN 12D NTNH YN NYaTY

‘That a person accompanied her and she went to the cemetery’” —
— ND I 17N YWIIN NI2T NIN 9199120 2D M XD

It was not necessary for the X123 to state X?IX N112pn n°29; but rather to

only say that a man accompanies her; and say no more —
— *uy15 9370 79N oY 193P47 RIPNX ONT MHNNV MYTIN 29V 790

And therefore (since 77772 w°1°R X127), if the N171%0 are distanced more than
the prescribed amount, the new n71%n are nw; for if she buried a body

there it would have been known. [There is no relevance (according to >"¥7) in
saying that R?TX M72pi7 N°291.]

mMooIn has an additional question on *"wA:
— DINNV INNDN MIY? NIIN MI2PN 172 ON P19

And furthermore if she goes to the cemetery when she is accompanied; why
are the old X%w n115n?! She went to the NP7 12 to do the burial, not to the M »n!

mooIn offers his interpretation:
— DPINT IPON NINNV NNIYWT W97 INIIN 139395 PNYY 139349D NI

And the >''1 prefers the interpretation of the 1''S who explained that the

reason NUW° are X»w even if they are NPT is (not because she went with an

escort and it was forgottenlo, but rather) -
— 29N AYSN 9P¥N NINY 1PN MNP NNIY 1IYUINT

Because we are concerned that these N1°17n were close to a city; for there

was a city nearby and the city was destroyed. At that time it was close and the

woman went there alone -
— 459 YY1 N0 NTHA YWIIN NIATT DIV 99N XY Nt 29

® According to *"wA, the MPIT1 MwTH are Mw because the accompanying person would make it known.

7 This reason indicates that the reason NP M@Tn are MY is because she goes with her escort to the
cemetery (not because the escort would make it known). However, according to *"", this is not the reason.

¥ See 0°1w> MO in the margin who attempts to answer this question, writing; NP5 Sy 5 INT MMMy 939
vp3, and it is possible to say that the X713 mentions two reasons two reasons to permit these nv?17n.

? Not only is MNP N*27 X2 not relevant (to MY Mwn); it contradicts the ruling by NP maw».

' This cannot be the reason; for the X7m) states that with the escort she goes to the cemetery, as NN
previously asked in the second question.
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And according to this interpretation of the 1", we do not assume that

since a man accompanied her it would have been better publicized, had
she buried someone. The escort is no cause to assume that there was no burial (for

otherwise he would have made it known). We do not assume this at all -
— NDIN 92PN 522D 9919 TP908N 97D

Therefore, in order to explain why mpIna nMwIn are MY, it is necessary to

state that she went to the cemetery with the escort, and did not bury in the n1»%n
(it has no connection to the lack of publicity).

SUMMARY

"9 maintains that M217p are always Xnv, since she can bury by herself.
mMpPn require an escort. Therefore (M) NMwIn are MAv for the escort
would inform us of any burial; however by (MP177) Mw° any report from the
escort was forgotten. MdoIn difficulty with >"w is based on the X773 which
states that by M7 she takes an escort and goes to the cemetery. A. why
mention going to a cemetery? An escort is sufficient reason to make it M7
by mpwn mwTn. B. if she goes to the cemetery with an escort why i1s niw»
Xnv MPInn?! nvoIn agrees with *"wA concerning M217pP. However, Mpin
M are Xnv because we are concerned that they were once M217p and the
woman buried by herself without an escort. mMwIn NPT are AL for an
escorted woman buries in the cemetery.

THINKING IT OVER

*"w1 1s of the opinion that an escort should cause publicity. It follows that
nMw are more liable to be Xnv because thing were forgotten (even if there
was an escort). Nevertheless m211p mwTn are also ¥»v (despite the fact that
an escort causes publicity), for by m1217p there may have been no escort.
mooIN is of the opinion that an escort does not add to the publicity. It would
therefore seem that by m1217p there is no difference between n1w> and mw7n.
They are both equally &2v. Why then did moon assume previously'” that the
XM status of NIY” is more LW than nwTn?"

""" Alternately; moon is proving that 7772 @ K 7727 is not a reason for publicity (as *"w9 maintains).
According to *"w1 the X nx should have said 01 ¥17° 7°M 7772 W K X127 00" Instead the X7 states "dv
XOTR MN2pn N°271 7772 WK 7127, That being escorted lends us to assume that she goes to the cemetery.

2 4mx 7"7 Mmoo,

1 See TR 1"72 2w MR 2"M 727 79K "D,
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